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Name: __________________________________



1
When the system of equations [image: image1.png]y+ix=x



 and [image: image2.png]


 is graphed on a set of axes, what is the total number of points of intersection?

	1)
	1

	2)
	2

	3)
	3

	4)
	0



2
Given:  [image: image3.png]



In which quadrant will the graphs of the given equations intersect?

	1)
	I

	2)
	II

	3)
	III

	4)
	IV



3
Given the system of equations:  [image: image4.png]



The number of points of intersection is

	1)
	1

	2)
	2

	3)
	3

	4)
	0



4
The solution of the system of equations [image: image5.png]


 and [image: image6.png]


 is

	1)
	[image: image7.png]


 and [image: image8.png]




	2)
	[image: image9.png]


 and [image: image10.png]




	3)
	[image: image11.png]


 and [image: image12.png]




	4)
	[image: image13.png]


 and [image: image14.png]






5
When solved graphically, what is the solution to the following system of equations?

[image: image15.png]-4z 6

y=x+2




	1)
	[image: image16.png]




	2)
	[image: image17.png]




	3)
	[image: image18.png]


 and [image: image19.png]




	4)
	[image: image20.png]


 and [image: image21.png]






6
What is the solution of the system of equations [image: image22.png]


 and [image: image23.png]y=x'+5



?

	1)
	[image: image24.png]


 and [image: image25.png]




	2)
	[image: image26.png]


 and [image: image27.png]




	3)
	[image: image28.png]


 and [image: image29.png]




	4)
	[image: image30.png]


 and [image: image31.png]






7
Given the equations:  [image: image32.png]x-6x+ 10

yex=4




What is the solution to the given system of equations?

	1)
	[image: image33.png]




	2)
	[image: image34.png]




	3)
	[image: image35.png](2,2) and (1,3)





	4)
	[image: image36.png](2,2)and (3,1)







8
The equations [image: image37.png]2x+3




 and [image: image38.png]


 are graphed on the same set of axes.  The coordinates of a point in the solution of this system of equations are

	1)
	[image: image39.png]




	2)
	[image: image40.png]




	3)
	[image: image41.png]




	4)
	[image: image42.png]






9
When the system of equations [image: image43.png]


 and [image: image44.png]x+y-6




 is solved graphically, the solution is

	1)
	[image: image45.png]


 and [image: image46.png]




	2)
	[image: image47.png]


 and [image: image48.png]




	3)
	[image: image49.png]


 and [image: image50.png]




	4)
	[image: image51.png]


 and [image: image52.png]






10
What is the solution of the following system of equations?

[image: image53.png]



	1)
	[image: image54.png]




	2)
	[image: image55.png]




	3)
	[image: image56.png](—4,-3) and (0,5)





	4)
	[image: image57.png](=3,—4) and (5,0)







11
What is the solution of the system of equations graphed below?

[image: image58.png]y=12x+1

-3





[image: image59.png]



	1)
	[image: image60.png]




	2)
	[image: image61.png]




	3)
	[image: image62.png]


 and [image: image63.png]




	4)
	[image: image64.png]


 and [image: image65.png]






12
Which graph could be used to find the solution to the following system of equations?

[image: image66.png]



	1)
	[image: image67.png]<






	2)
	[image: image68.png]<






	3)
	[image: image69.png]




	4)
	[image: image70.png]






13
Which graph could be used to find the solution to the following system of equations?

[image: image71.png]



	1)
	[image: image72.png]




	2)
	[image: image73.png]




	3)
	[image: image74.png]




	4)
	[image: image75.png]






14
On the set of axes below, solve the following system of equations graphically and state the coordinates of all points in the solution.

[image: image76.png]7 rdxe2

y-2x=5




[image: image77.png]




15
Solve the following system of equations graphically.  State the coordinates of all points in the solution.

[image: image78.png]yrdx=x"+5
x4y=5





[image: image79.png]




16
Solve the following system of equations graphically.
[image: image80.png]2 —4x=y+1

xey=1




[image: image81.png]




17
On the set of axes below, solve the system of equations graphically and state the coordinates of all points in the solution.

[image: image82.png]=(x-2°-
y+16=4x





[image: image83.png]




18
On the set of axes below, solve the following system of equations graphically for all values of x and y.

[image: image84.png]=(x-2)"+4
4x+2y=14







[image: image85.png]><

> X





1
ANS:
2

[image: image86.png]x+2x=%
0=x-3x
0= x(x-3)
x=03



[image: image87.png]



REF:
061406ge

2
ANS:
3

[image: image88.png]



REF:
061011ge

3
ANS:
1

[image: image89.png]2 4x= (4% - 44




.  [image: image90.png]


 is the only intersection.  [image: image91.png]



REF:
060923ge

4
ANS:
2

[image: image92.png]P-x-2=0
(k- D+ 1)=10
x=2-1




REF:
011409ge

5
ANS:
3

[image: image93.png]it




   [image: image94.png]it





REF:
081118ge

6
ANS:
1

[image: image95.png]H(x-1)=0
01




  [image: image96.png]



REF:
081406ge

7
ANS:
4

[image: image97.png]


.  [image: image98.png]X' = bx+ 10=-x+4

2 -5xe6
- BE-2)=0

x=30r2



.  [image: image99.png]


.  [image: image100.png]


 [image: image101.png]



REF:
080912ge

8
ANS:
4

[image: image102.png]543
2a3re2=0
(x+ D+ 1)=10

x=-2-




  [image: image103.png]2=D+3





REF:
081516ge

9
ANS:
2

[image: image104.png](-4 -
x - 8x+16-2
2

—2x+ 6

~2+6

6x+8=0
(- 9x-2=10
x=4,2



.  [image: image105.png]—2#)+ 6
—2D+6=2





REF:
081319ge

10
ANS:
3

[image: image106.png](x+3)7-4=2x+5

4 b+ 9-4= 2+ 5

rdx=0

Ared)=0





REF:
081004ge

11
ANS:
4
REF:
011501ge

12
ANS:
3

[image: image107.png]



REF:
fall0805ge

13
ANS:
2
REF:
061313ge

14
ANS:


[image: image108.png]



REF:
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15
ANS:


[image: image109.png]y
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16
ANS:


[image: image110.png]
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17
ANS:
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ANS:


[image: image112.png]


 [image: image113.png]Iotarss
asaoon [yv=y saaasie
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